ePhysics (C)
Chris Oh

Projectile Motion Throw

purpose:
To learn projectile motion by using graph, with devices and programs given.

Background:
projectile motion is the motion that is affected by gravity (-9.8m/s*) constantly,
one can ignore small factors such as air resistance. The projectile motion should not

include any other external propulsion.

Materials:
laptop with camera, Soccer ball, Meter stick, cones(to show meter stick better in

low quality video).

Procedure:
1. Set up the Laptop on a flat area, turn on the logger pro.
2. Put a meter stick so it shows on the video.
A. Use cones to indicate the each end of meter stick
Go to insert, video capture
Click on start video capture when the experiment is begun.
Make sure the slide bar of video is at the first then start plotting on the video
Do curve/linear fit for the graph depends on graph shape.
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Discuss with your group members about graphs.
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Observations:

sunny but little windy. Good day to do projectile motion.

Analysis:

From formula, y=Ax"2+Bx+C, A is the acceleration of the projectile. The
result is not perfectly accurate but it was off by .02. This is from the equation,
S=1/2at* which is -9.8/2. Also, the slow frame rate of the camera might be the reason

the graph is not perfectly accurate.

Conclusions:

In this lab, graph was accurate enough as we expected. The data shows
-4.779(acceleration), which was very close to-4.9. This lab would give one, more
clear information about projectile motion because one sees and does the lab. The

concept of gravity is more tangible after doing the lab. Better camera would be needed



for future repetition of this experiment.



